

INTEGRATED DEGREE (Sciences)(PHYSICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

AEC18n: Spoken Skills in English IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC10n: INTRODUCTION TO BIOLOGICAL SCIENCE

				0,								
Sr.No	Roll No.	Name of	AEC18n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC10n	SGPA	тс	Failed
JI.NO	HOII NO.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	'	Courses
1	24/IMSPHY/01	ASHISH RANJAN	B+	В	B+	B+	В	F	Α	6.09	20	ISEC110n
2	24/IMSPHY/12	RIYA	Α	В	B+	A+	A+	Α	A+	7.91	22	
3	24/IMSPHY/18	SAURAV KUMAR SINGH	A	B+	B+	B+	A	0	A+	7.73	22	

AEC13n: Logical Reasoning IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC5n: Emotional Intelligence

Sr.No	Roll No.	Name of	AEC13n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC5n	SGPA	TC	Failed
31.110	Holl No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	Courses
4	24/IMSPHY/02	AYUSHI SINGH	В	B+	A+	A+	Α	0	Α	8.18	22	
5	24/IMSPHY/15	SARTHAK RANJAN	В	A+	0	A+	A+	Α	С	8.45	22	

AEC18n: Spoken Skills in English IMSAC108n: Basic Chemistry - 2 IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC10n: INTRODUCTION TO BIOLOGICAL SCIENCE

Sr.No	Roll No.	Name of	AEC18n	IMSAC108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC10n	SGPA	TC	Failed
31.110	HOII NO.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	Courses

OIC (Results)



INTEGRATED DEGREE (Sciences)(PHYSICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

6	24/IMSPHY/03	ВНАVYA	B+	F	С	С	F	С	Р	3.27	14	IMSAC108n IMSPH106n
7	24/IMSPHY/08	POORNIMA MISHRA	Α	Α	В	Α	Α	Α	Α	7.64	22	
8	24/IMSPHY/19	SMRITI SHARMA	Α	С	С	B+	F	A+	B+	5.27	18	IMSPH106n

AEC25n: Entrepreneurship Development IMSAC108n: Basic Chemistry - 2 IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC16n: Professional Ethics & Human Values

Sr.No	Roll No.	Name of	AEC25n	IMSAC108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC16n	SGPA	тс	Failed Courses
31.140	Holl No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JULY	10	alled Courses
9	24/IMSPHY/06	HIMANSHU BAGHEL	В	F	С	В	F	Р	Α	3.64	14	IMSAC108n IMSPH106n

AEC18n: Spoken Skills in English IMSHU108n: BASICS OF FINANCIAL ACCOUNTING IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC10n: INTRODUCTION TO BIOLOGICAL SCIENCE

Sr.No	Roll No.	Name of	AEC18n	IMSHU108n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC10n	SGPA	тс	Failed
31.110	noii No.	Student	2.00	4.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	2	Courses
10	24/IMSPHY/07	MANISH KHATREE	A+	0	F	A	B+	0	A+	A	7.38	22	IMSMA108n

AEC13n: Logical Reasoning IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC10n: INTRODUCTION TO BIOLOGICAL SCIENCE

OIC (Results)



INTEGRATED DEGREE (Sciences)(PHYSICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

Sr.No	Roll No.	Name of	AEC13n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC10n	SGPA	TC	Failed
31.140	Holl No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JULA	10	Courses
11	24/IMSPHY/09	PRARTHNA BAWEJA	В	Α	Α	Α	B+	A+	В	7.55	22	
12	24/IMSPHY/17	SAURABH	Р	Α	B+	0	Α	B+	A+	7.82	22	

AEC25n: Entrepreneurship Development IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC19n: Science & Practice of Happiness

Ľ		3 102011011.111	iodaction to diass c	cicrice and i	connology vitor	on . Ocionico a i n	actice of Flappines	33			_		
	Sr.No	Roll No.	Name of Student	AEC25n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC19n	SGPA	TC	Failed
	31.110	Holl No.	Name of Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	Courses
	13	24/IMSPHY/10	PRATEEK CHOUDHARY	С	В	С	С	F	В	С	4.36	18	IMSPH106n

AEC18n: Spoken Skills in English AEC20n: Sketching & Rendering IMSHU108n: BASICS OF FINANCIAL ACCOUNTING IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC19n: Science & Practice of Happiness

										-111			
Sr.No	Roll No.	Name of	AEC18n	AEC20n	IMSHU108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC19n	SGPA	тс	Failed
31.140	Hon No.	Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	2.00	JULY	10	Courses
14	24/IMSPHY/11	RAGHAV SHARMA	F	С	F	B+	Α	B+	A+	B+	5.42	18	AEC18n IMSHU108n

OIC (Results)



INTEGRATED DEGREE (Sciences)(PHYSICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025 Notification No: 1898

AEC18n: Spoken Skills in English IMSHU108n: BASICS OF FINANCIAL ACCOUNTING IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC10n: INTRODUCTION TO BIOLOGICAL SCIENCE

			1						1			
Sr.No	Roll No.	Name of	AEC18n	IMSHU108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC10n	SGPA	тс	Failed
31.140	non No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	Courses
15	24/IMSPHY/14	SARTHAK ARORA	Α	0	С	B+	B+	B+	Α	7.36	22	
16	24/IMSPHY/24	YASH BISHT	Α	B+	B+	B+	Α	A+	Α	7.55	22	

AEC13n: Logical Reasoning IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC19n: Science & Practice of Happiness

Sr.No	Roll No.	Name of	AEC13n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC19n	SGPA	тс	Failed
31.140	Holl No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SUFA	10	Courses
17	24/IMSPHY/16	SARTHAK SINGH	В	A	A	0	A	0	С	5.93	22	

AEC10n: German IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC5n: Emotional Intelligence

- 1													
	Sr.No	Roll No.	Name of	AEC10n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC5n	SGPA	TC	Failed
	31.110	Holl No.	Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00	SGFA	10	Courses
	18	24/IMSPHY/20	TURANYA CHANDRA	С	В	С	B+	В	B+	B+	6.09	22	

OIC (Results)



INTEGRATED DEGREE (Sciences)(PHYSICS), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

AEC4n: Business Communication and Presentation Skills IMSMA108n: Mathematics-II IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC27n: Introduction to Environmental Science

Sr.No	Roll No.	o. Name of Student	AEC4n	IMSMA108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC27n	SGPA	тс	Failed
			2.00	4.00	4.00	4.00	4.00	2.00	2.00			Courses
19	24/IMSPHY/21	VANSH	Р	В	С	B+	F	B+	Р	4.64	18	IMSPH106n

AEC18n: Spoken Skills in English IMSHU108n: BASICS OF FINANCIAL ACCOUNTING IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC20n: Sports I

Sr.No	Roll No.	Name of Student	AEC18n	IMSHU108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC20n	SGPA	тс	Failed	
			2.00	4.00	4.00	4.00	4.00	2.00	2.00			Courses	
20		VIKAS DADHICH	A+	Α	B+	0	A+	0	Α	8.64	22		

AEC18n: Spoken Skills in English IMSAC108n: Basic Chemistry - 2 IMSPH102n: Mathematical Physics-II IMSPH104n: Physics of Vibrations and Waves IMSPH106n: Analog Electronics ISEC110n: Introduction to Glass Science and Technology VAC5n: Emotional Intelligence

Sr.No	Roll No.	Name of	AEC18n	IMSAC108n	IMSPH102n	IMSPH104n	IMSPH106n	ISEC110n	VAC5n	SGPA	тс	Failed
		Student	2.00	4.00	4.00	4.00	4.00	2.00	2.00			Courses
21	24/IMSPHY/25	YOGITA	Α	С	С	Α	С	Α	В	6.18	22	

OIC (Results)